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e Please check that this question paper contains 8 printed pages + 2 Maps.

e (Code number given on the right hand side of the question paper should be
written on the title page of the answer-book by the candidate.

e Please check that this question paper contains 30 questions.

e Please write down the Serial Number of the question before
attempting it.

e 15 minute time has been allotted to read this question paper. The question
paper will be distributed at 10.15 a.m. From 10.15 a.m. to 10.30 a.m., the
students will read the question paper only and will not write any answer on
the answer-book during this period.
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AT 4597 :

(i) 39 ¥97-U7 7 F7 30 I97 & | g 3v7 aifard &/

(ii)  ¥AF F & 3 359 G (T 77§ |

(iii) 97 &I 1 G 8 T 317 TG I70T J97 & | I J97 1 37 F & |

(iv) Yo7 &I 9 T 20 TF II% 97 3 b F1 & | 378 @ Jd% Yo7 &7 I
80 551 @ 37ereh T 787 517 TET |

(v) Y97 G&IT 21 G 28 TF A% Y97 5 3F FHT & | 598 & YdPb Y97 HT I
100 /557 @ 378 %7 757 5147 FieT |

(vi) 3T T&IT 29 37K 30 FIAFIT R YT & Tl Tt F97 JA%H 3 3% & & |
58 [T F7 & 15, Tl B IH-GIRAH & 357 704 F G157 |

General Instructions :
(i) The question paper has 30 questions in all. All questions are compulsory.
(it)  Marks are indicated against each question.

(iii) Questions from serial number 1 to 8 are Very Short Answer Questions.

Each question carries 1 mark.

(iv) Questions from serial number 9 to 20 are 3 mark questions.

Answers of these questions should not exceed 80 words each.

(v) Questions from serial number 21 to 28 are 5 mark questions.

Answers of these questions should not exceed 100 words each.

(vi)  Questions number 29 and 30 are map questions of 3 marks each from
History and Geography both. After completion, attach the maps inside

your answer-book.
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1. W™ A &1 o7 Tlied 999 319 38 W HiH-A7 g (M) @1 = 2 1

Which logo would you like to see while purchasing a tin of edible oil ?

2. ‘TegMEY WIEH 3TN 6l T % folU §f HEwqul Hhieh HiH-H § ? é+é:1

Which two prime factors are important for the location of ‘Aluminium
Smelting’ industry ?

3.  UoHIfde T ¥ o1 I & 2 1
What is a political party ?

4., YA TR 3 faes =R qen faesh e w & *wrhl g2 a6 Te0dl i w41
BT ? 1

Why did the Indian Government remove barriers to a large extent on
foreign trade and foreign investment ?

5. SERATE! TSgaTiel gRT IS T Y@ HeT T off ?

AT

| 3 R 7 famg Iral ! foraam h AveraTdt R S et Siar o 2 1
What was the major issue taken up by the liberal nationalists ?

OR

Why were Nghe An and Ha Tinh provinces called the electrical fuses of
Vietnam ?

6. KU & MY GIdl shl HRE-YUMAT T HiF 51 T&dT & ? 1

Who supervises the functioning of formal sources of loans ?

7. TG IR A TRE TSI G Sl TS T shl AT9AT W i &g 1 34
ffrma Hrz 2 1

What is the requirement laid down by the Election Commission for a
political party to be recognized as a ‘State Party’ ?

8.  Thdilyeh STGEYT 37T Jehicdeh TG STGEATSHT ¥ FT S8l & ? 1

Why is a democratic government better than other alternatives ?

9.  3TY SR ¥ qaT¢ GiigH dTel SUHITRT i -l AELTHAT 9a- &1 ggmd < 2 3

What precautions do you suggest for a consumer to take while purchasing
medicines from the market ?
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10. 39 uifeafa = wose hifoe {4 wgren el sl 1930 § I 3o
! I19E o o T ey foRmam | 3

Explain the circumstances which compelled Mahatma Gandhi to call off
the Non-Cooperation Movement in 1930.

11.  “ggT 3 oF-¢F &1 3 o feam g 17 gfse Shifse | 3

“Money has made transactions easy.” Justify.

12. 9t 96 UM | AR AR ThAUT &hi gRI AT i T8 diF THE THEATRT
Ui FHINT | 3x1=3

Describe three major problems faced by the weaving and processing sectors
in cotton textile industry.

13.  “Wenfiehl 3 dveitentor il gfshan sl IANG foram 2 17 3w €@ o Had <kl
gfee shife | 3

“Technology has stimulated the globalisation process.” Support the
statement with examples.

14. “F® M &1 WHAT B foh Ahad H SRR W 99T Bt 8 17 39 AT
fergersor Hifsr | 3

“Some people think that democracy produces a less effective government.”
Analyse the statement.

15. ‘i-fomiv & feq-gwgl i fohgl i famwarsti &1 auiA i | 3x1=3

Describe any three features of sectional interest groups.

16.  3TTfeh TegaTg i Tat 4 fohd TohR U | 999 T Ik TSEaTE! WIaHTST
HSTed ST ? ¥ ST |

rera
3fafrafiren e # foren Hfifa fore R foraamdt farnfelt & ufoga oft 2 wase
T | 3

How did a wave of economic nationalism strengthen the wider nationalist
sentiment growing in Europe ? Explain.

OR

How was the education policy unfavourable to the Vietnamese students
during the colonial period ? Explain.
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17.

18.

19.

20.

21.

22,

23.
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JEfd AT 3TEs SfieH § fohd TR g8 ? IRl yfteRt 1 fawemor
HIT | 3

How did the industrialists relate to the Civil Disobedience Movement ?
Analyse their role.

UiEgT 3R T9R % Tu9 U W AT Bl g AN o LI, TST 3R
3fyges =R o foshra & o g erfara o=t 2 2 31 fomm =o=e ShifTe | 3

Why is a dense and efficient network of transport and communication
a prerequisite for the development of local, national and global trade of
today ? Give your opinion.

TRENY forE TR ot gHE ol fawivent Urior YRG § g o Hehdl @ 2 3194
gma G | 3x1=3

How can biogas solve the energy problem mainly in rural India ? Give your
suggestions.

“ard § TSI gl o UR 7g AT Tedl 4 TR s fehu |7 wed i
gfse i | 3

“Serious efforts were made by the legal organisations to reform political
parties in India.” Support the statement.

“rrETa et @t & T sEER YeE i iR 98 gHfvaa o o {5
JvelioRtuT o AT § Heeh! dEd fGRe &1 |17 39 e hi g i | 5

“Fair globalisation would create opportunities for all and also ensure that
benefits of globalisation are shared better.” Support the statement.

AN Tl hl TFH KA ITeA] HA13T T I hifve | 5

Describe the developments which led to the launching of Non-Cooperation
Movement.

Al A4l o el o HI-EY S el % Gehfead 81 o foie Iowgrft ol ur=
HTTEhI T UM HIFVT | 5x1=5

Describe any five factors responsible for the concentration of jute mills
along the banks of the Hugli river.
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24.

25.

26.

27.

28.
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“myfie ArhAIEh SEEATT TSHIfdh Gl o [oF] gl =9 Fehd! | e
T HIfTY |

“Modern democracies cannot exist without political parties.” Examine the

statement.

“SHadt Tl o qald # Usgarg @ ATeNard) IeRaTdl-SHdife e Hiftd
AT TN Hehivt fagra 99 T 17 36 % 6y I |

aterat
“Traam & FrTsa-fatiedt steare | wfgenei i fieetd fafay off |7 wem i
@ T |

“The idealistic liberal-democratic sentiment of nationalism in the first half
of the nineteenth century became a narrow creed with limited ends.”
Examine the statement.

OR

“The roles of women varied in the anti-imperialist movement in
Vietnam.” Examine the statement.

“ard H ggw UREEd SR 1o ditesT wem gfiensf 76 E, oifig wh-gm %
T 2 |7 39 HYA I AFETT g |

“Road transport and Rail transport in India are not competitive but
complementary to each other.” Justify the statement.

TR T IUNREIST < qRan w6 fofu i o fafemt 6 staweesar =i
7 2 Tqse HIf |

Why are rules and regulations required for the protection of the consumers
in the marketplace ? Explain.

“S9 oY Alhdd o fIeht@ & 31MF 31 8 |7 39 I k1 favawur i |

“The popular struggles are integral to the development of democracy.”

Analyse the statement.



29.

Note :

32/2/2

9 A&gT A, B 3R C WRa & fou MU voHifas {@i-AFes (98 9 M), ¥
siferd fopu MU § | 3 et b Frefefed SR S wEwEar ¥ w3
3k GEl AW, Tl § giw 18 et w fafeu 3x1=3

A, I8 TIM JEI WA TR HEE 1 A g0 A1 |
B. 98 YW W&l Yl UL @M o HIAGU - HAWE I [ohal o1 |

C. 98 TR Sl AfATaTel] S0 94T 9 grafed 2 |

Three features A, B and C are marked on the given political outline map of
India (on page 9). Identify these features with the help of the following

information and write their correct names on the lines marked in the map :

A. The place where the Indian National Congress Session was held.
B. The place where cotton mill workers organized a Satyagraha
Movement.

C. The city related to Jallianwala Bagh incident.

HEFIeTRET 597 #ecT ZIRamaa qhenmtaal & 70 I97 G297 29 & T %
The following questions are for the Visually Impaired Candidates

only, in lieu of Question Number 29 :

(29.1) 39 TH &1 W faRgw, St fomrar, 1920 & v UdE w0E H

JfoaeH g3 o |

(29.2) 38 T 1 AW fAfan, F&F gl FIST FR@H & AU 4 TAWE
foram o |

(29.3) 39 TR 1 M fafgu I AfAATare 9 "o ¥ grf-ed 8 | 3x1=3

(29.1) Name the place where the Indian National Congress Session was
held in December, 1920.

(29.2) Name the place where cotton mill workers organised Satyagraha.

(29.3) Name the city related to Jallianwala Bagh incident.
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30.

Note :

32/2/2

(30.1)

(30.2)

(30.1)

(30.2)

T AU A 3R B, WA % feu M gerifos weramfs (98 11 W),
¥ sifera fopr mw & | 3 @en w fefafga S B wgRar @

YEe-Y 3 39k Tl 9, A § Gk 78 W@ren ) fafge
A, R H @H

B. 3-geu MR @& R o1 ©IE

Y At § fafafaa 1 geisy i 35t W fafaw
TireTg <eT 3R s g

2x1=2

Two features A and B are marked on the given political outline
map of India (on page 11). Identify these features with the help
of the following information and write their correct names on

the lines marked in the map :
A. Coal mines
B. The terminal station of North-South Corridor

On the same map locate and label the following :

Bhilai Iron and Steel Plant.

HEFIeTRET 597 #ecT ZIRamiaa qhenmtaal & 70 397 G297 30 & T ®

8

The following questions are for the Visually Impaired Candidates

only, in lieu of Question Number 30 :

(30.1)
(30.2)
(30.3)
(30.1)
(30.2)
(30.3)

siifeen # feoa foret T sidra @ w1 W fafen |
IS0 AR o gferofl R & w3 &1 9 fafaw |
firerg rer 3 geara @ form Tsw H fEaa B 2
Name any one coal mine located in Odisha.

Name the Southern terminal station of North-South Corridor.

In which State is Bhilai Iron and Steel Plant located ?

3X1=3
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29 & forw For question no. 29
WA T WAT-AHRE (T eR)
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I3 9. 30 & forw For question no. 30

WA T {AT-AHRS (T )
Outline Map of India (Political)
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T 1] T 1 T 1 I I I
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